Seat No.: Enrolment No.

Subject Code: 3360606

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING - SEMESTER -6(NEW) « EXAMINATION - WINTER - 2021

Subject Name: Railway , Harbour & Tunnel Engineering

Time: 02:30 PM TO 05:00 PM

Instructions:
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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of non-programmable scientific calculator is permitted.

English version is authentic.

Answer any seven out of ten. £l 515U Uldl sxalsL LU,

Write the function of Marshaling Yard
H1gielloL 113 AL sl gl

R, <AL HUA 6122 5261 697 AH o 6L HU4 6{ER <Al AlH QML
Explain Conning of wheels?

Y3l 255200 AHMAL?

Why & where is Warner Signal Provided?

AUAR A5l UL HIZ DAl AL HEAUHE 2D £9?

Classify the tunnels based on the purpose.

244 < S viqA12 Ails2m 53

What is mooring? Write mooring accessories

H2loL 2A24 97 H2[oL AL Quil,

Define natural harbor, write any two natural harbor in India

Define the term: Turning basing and Shelter basin

201 1okl wid U2z slofld <l carval vil

Write any two advantages of Belgian method of tunnel

246 Hi Ae2AH, UEH (A, <AL AHA 6 5142121 Qv

Define Sleeper & Draw the BG track sleeper with dimension
26Uz <l vt Ul 2 slgoley 2aluR <l siigdl Hiu u1E 2Rl
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Write short note on “Types of Rail”
(@) Uzl UsR (48 Zsia dvil
OR
(@ What is interlocking? Write methods of interlocking?
() Oezralsla vizd 4?2 Sezralslo vzl Al syrudl,
(b)  Explain failure of rails
(o) izld 59ER UHMAl

OR
(b)  Write requirement of Railway station

Date : 10-12-2021

Total Marks: 70

How much major port in India? Write any Two of Major Port in India

522l $1012 <Al VAL DUUL 2 AURAAL SIHUBL 0 522 S1oARAL AlH AV,
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3ed, 22904l syzelAld [d2 avil

Draw the neat labeled sketch of left hand turnout
d52 G 242162 AlH [A2aa10il 29269 215d] £l
OR
Explain Scissor crossing with neat sketch
Alosd 510l A 25l U1 AHMAL
Explain types of maintenance of railway track
264 25l [Aeuapl uslz u4mdl
OR
What is hogging of rail? Write its remedial measures?
2@ o $loiloL 2424 92 del 24251991 <AL GULil Q.

Write short note on “uniformity of gauges”
25liH Quil : “Oloy <l UHIAAL”

OR
Write types of crossing
$U[Z0L <L us1z d@vil
Write functions of ballast
GLEA122 <AL 5141 Qv
OR

Difference between Dry dock & Wet dock
S 3815 v A2 Sl A2, Al dsldd |uil
Write objectives of signaling for Railway
264 HI2 ([FoldaL AL gduil @vil

OR

Write Requirement of good harbor
AL 1012 Al syElald quil

Explain light house in details
Atz €16 (2lalsidl) < [Azdiz 4l auemal
OR
Draw the neat sketch of components of Harbour
SLOIR (6122) Al 425l U1 o 29249 5l 212l

Describe in brief tunneling Equipments

2Elol Hi2 QURLAL UL L 25 Hi AHMALL
OR

Explain mechanical ventilation in Tunnel

244 Hi [Wslsa deZldad uHmal

Write down classification and types of Harbours based on their utility and

location

S1012 <, dell GIUALELAL 21 220 Yoyor 4o{5201 520 24 dedl U512 QUil
OR

Write effect & Causes of ocean currents

UYL UALS] 242 A 51200 AHMAL

Write details about “Jetty” and given brief about dolphin, moles, piers and
break water
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“oy2” (AN [Azdd dvil i dledld, Wi, A 2id ols 12z < 25 Hi qumal,
Draw and Explain wind rose diagram

(g 202 AN, 2121 Bi [A21AAIR AHMAL

Write short note on: “Navigation aids”
5l quil : “Adldlad i

Write short note on : “size of tunnel”
25l Quil : “2dd <l Aln”

Define Tunnel and write its advantages?
2@ il 2AL0AL UL DA dell 5A2I2AL Sy RUAL
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